LF €ngineering Sdn Bhd v

Lot 4306-4312, Mukim Serendah, Jalan Kampung Mohd. Taib,

Kawasan Perindustrian Sg Choh, 48200 Serendah, Selangor Darul Ehsan.
Tel : 03-6093 7022 Fax : 03-6093 5022 H/P: 016-381 2577, 016-412 4727
Email : Ifengsb@gmail.com



COMPANY INTRODUCTION

LF Engineering Sdn Bhd is a fully

integrated Malaysia incorporated
manufacturer of Highway Guardrail &
Accessories. Our Products are

manufactured strictly conforming to
(AASTHO) standard and are certified by
Sirim.

As an affiliated company to LeForm Group
of companies, LF Engineering Sdn Bhd have
accessed to facilities and technical support
of the group which includes steel service
center, metal fabrication equipment, tool
and dye fabrication and other related
manufactured steel products.

The highway guardrail and accessories are
produced at the new factory in Kawasan
Perindustrian Sg Choh under the brand
name LF rail and is in compliance with

American Association Of State Highway &
Transportation Official (AASHTO)

Standard Industry Research Institute Of
Malaysia (SIRIM)

Malaysia Public Work Department
Standard (JKR)




HIGHWAY GUARDRAIL PRODUCT FEATURES & APPLICATION

* To Provide Railing Protection To Motor Vehicle At  * To Act As A Directional Railing For Vehicle Moving

Dangerous Road Area Such As In The Right Direction.
- Steep Slope - Obscure Curve/Bend * To Act As A Median Barrier For Avoiding Head On
- High Embankment - Sharp Corner Collision.

* To Absorb Sudden Impact During Collision Thus * To Act As A Protective Barrier For Pedestrian Along
Minimise Injury To Vehicle And Passenger. The High Way.

SPECIFICATION AND TECHNICAL DATA

1. Base Metal specification to AASHTO M| 80-89 2. Galvanising specification comply to AASHTO M| 80-89
- Minimum Yield Strength ;345 N/mm? - M00g/m?2 minimum single spot test (for both side)
- Minimum Tensile Strength  : 483 N/mm? - 1220g/m? triple spot test (for both side)
- Minimum Elongation . 15% 3. LF dimension to AASHTO M| 80-89
TYPE EFFECTION OVERALL NOMINAL UNCOATED
LENGTH (MM) LENGTH (MM) THICKNESS (MM)
LF 1 3810 4128 2.67
LF 2 4000 4318 2.67
LF 3 3810 4128 3.00
LF 4 4000 4318 3.00

(Tolerance allowable under specified thickness)

SECTION THROUGH BEAM

4318

SECTION A-A

. SPLICE HOLE
19mm HEIGHT x 29mm LONG

[~ GAUGE 14 (1.4mm)
POST BOLT M16x50 /—GAUGE 12 (2.6mm) | GALVANISED IRON STRIP

/ GALVANISED IRON STRIP

ROUND WASHER 7 / — OVAL HOLE
HEX NUT / / /  20x25.4
< .
T ,— OVAL HOLE / y 3
Lo / 17.5x25.4 4
< / o
SPLICE BOLT M16x32 = (/]
N XN
HEX NUT v ><f\
. \\
S P
22 b
HEX BOLT M16x40 N\
WHITE REFLECTING MATERIAL OF L
HIGH INTENSITY PRISMATIC GRADE
ROUND WASHER ON THE FRONT FACE
HEX NUT 50x90
SPLICE BOLT & NUT DELINEATOR STRIP

NOTE : All dimension are subject to manufacturer's design tolerance.
All dimension are in millimetre.
SIRIM LICENSE NO : PPO01801



LF POST

730

L e s
1830
1100

M16x40 mm Bolt N
Round Washer Splice Bolt & Nut
Hex Nut \ S8
M16x50 mm Post Bolt/Hex Nut/
Ecungular at Round Washer
in front of beam
M16x40 mm Hex Bolt/Hex Nut/
M16x50 mm Bolt Rouad Washer
Round Washer
Before After

TYPE Hx b x t1 x t2 (mm) Unit Weight

TRACFFIC DIRECTION

4000 mm

(kg/m)
A C178 x 76 x 6 14.3
B Cl50 x 76 x 6 13.4

Total length : 1830 mm, subject to customer request.

TERMINAL UNIT (TYPE1)

S PLAN — DETAIL 'A’ - END WING
e R l PLAN
lg I §| %-l %] ~ Post Bolt Hole
Y 1 I T HER B | ﬁ 318 Lop. 7
: I T — ! EI I s
| | .
T |
:;?F:r;hici‘ﬂl rl_l Terminal section lapped on traffic face *l [ | e 1‘ i
na wing
=¥ i ]-! T‘H‘ el 108 108 ﬁgl;szagjom
- S N B = = T I I il
— Rk sl TR T T
ﬁ ST |2 g‘
R Fem El
4 2. =t
; 1905/2000 1905/2000 N . ;4‘ I
Spacing of post
beyond terminal 3810/4000 540 Slotted holes
shall be 3810/4000 =
ELEVATION ELEVATION

TERMINAL ANCHORAGE UNIT OR FLARE END (TYPE 2)

PLAN bostBoi ot BUFFER RETURN (Detail B)

Anchor Plate

| 36°

2.67mm nominal

| thickness M5 plate
8 | I2 Vel Ty
N T
i 751 110
Terminull LA e Lap in direction of traffic
see detail B —¢
— 1 \ 23 x 29 Slotted holes 4 off
g D - —-FFH if— ‘ R EE N 20 Dio bele
§lg] - EY
™ #
A "I g ‘/Dm 24 M. Rod j g
v 4 i Finished Ground Level ) 1 A
K BOOOK 1141
1905/2000 1905/2000 ELEVATION (Detail B)
—
3810/4000 Spacing of post beyond

ELEVATION terminal shall be 3810/4000



90° TWIST TERMINAL ANCHORAGE UNIT (TYPE 3 )

PLAN
. 90" Twist Guardrail ‘
| See packer detail See packer detail See packer detail — ‘
| | (Type A { (ypes) s )
/- E E Iz S _
y M— | LI R e e % ——
‘ 305mm in length back up plate ) ‘ ‘
l 1 must be place behind rail elements
‘ at intermediate posts (Non- Splice foots) ! Top of rail element o be
g J_ ‘ flush with ground line ‘
L , am . ! ‘
4 _I__ ‘: HERN! [-1T 1 . oo . €.
3 I RN 1. 1 I 1 I- l
2 [ | J
I .
Finished Ground Level |
‘ ' - / 178x76x6 —
) 1905/2000 ‘ 1905/2000 | 1905/2000 1905/2000 I Gl Channel Section |
Spacing of post ;
o o | 3810/4000 ‘ 3810/4000 - 3810/4000 I
shall be 3810/4000
ELEVATION
¥
o
+ 3
¥
16mm Dia. bolt with 16mm Dia. bolt with hex
h“g“‘l’ “"‘_i ‘:;‘her nut and washer (Galvanized)
254 254 [
A2 534 a4y 53
5 z 1 Range
178 x 76 x 6 — 2 Nos 16mm Dia. 4001000
Gl Channel Section hex head bolt with <4 178x76x6
standard hex nut | Gl Channel Section A
(Galvanized) -
PACKER (TYPE A) PACKER (TYPE B) PACKER (TYPE C)
TERMINAL SECTION 1:6 ( TYPE 4 )
PLAN TERMINAL BUFFER END
1 N 1~
— . _ Opened out approx 5' terminal buffer end —t (DETA". C )
D - - - = =i PLAN
P E_ E 1 o I 51 216
I(j ]l"‘ 0
| |
‘ : Space between terminal buffer
' | Butt welded joint with fensile strength and I_'oking post .ﬂush with top
" Lap in direction of|traffic not less 330KN. (74,000L8S.) of ral. suerounding ground
} 4 rammed up fo same level
oy o A : Bl fF— - ik [l —=
L ‘ Finished ground level| | . e i T
ORI ARIHRHNIA o
: 178 x 76 x 6 THK  —=:
I 1905/2000 1905/2000 1905/2000 | 1905/2000 il ; ELEVATION
; . Terminal buffer end
Spocing of post - 3810/4000 ol 3810/4000 | 3734 l b
beyond terminal .

shall be 3810/4000 |EI_EVATION



